' ‘Math 1552 Exam 1 Summer-SOUP 2018

Instructor: Sal Barone
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1. No books or notes are allowed.

o

No electronic devices are allowed.
3. Show all work and fully justify your answer to receive full credit.

4. Please your answers.

5. The exam consists of 105 points but your score will be out of 100, there is a 5 pt.
bonus question at the end.

6. Good luck!

Page | Max. Possible | Points

1 22
2 36
3 17
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‘1. Evaluate. (Hint: graph the function.)
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2. Find F'(3) where
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3. Evaluate the indefinite integrals. (12 pts. each)
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4. (a) Find a closed formula for the approximate area under y = x(x — 1) over the
interval [0, 1] using n rectangles and a right-endpoint evaluation Riemann Sum.
(8 pts.)
2
5 =Y -A A ( i \* .
n . Tzh = ; ‘V_\- /h - /'\
Z = Z AN -e(m) ,
n ‘ 0= '
t= |
[ 1‘—- ~2 ‘ 'n .
An =22 1 = L > ¢ - L5
2 - N n? V= n“ =t

x; = Cr+t Z?A"p( = {/n
- _\-_ y((_ﬁn)(lh*—‘) .
va 2

—| (e ) ({v\jt\

A+ |
“%-—_.___ﬁ__ —

e

o 2\

(b) Find the exact area from above by taking a limit in part (a).
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(c) Find the exact area from above again (check your answer) by using the Funda-
mental Theorem of Calculus. (5 pts.)

.K(AH\
Z

-

4 pts.)

l
) . -
0

(%]



5. Find the area bounded by y = 323, the line y = —3 and the y-axis. (15 pts.)
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6. Find the average value of y = ( z) over the lnterval (1,€%]. (10 pts.)
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Bonus: (5 pts.) Express the following limit as a definite integral but do not evaluate Z
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